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FIRST HALF
( Inorganic Chemistry )
( Marks : 32)

1. o7 Tewh A Bfe : - 1x3=3

Select the correct answer :

(@) ISi Y@ @B PRGT Rafe TR Teoid
© CRR CEE B

Positron emission of 12;’ Si will give the
element

@ &Zsi
@ P

(i) Al
(iv) Mg

(b) ERAET gy RN TR
R IR Beom oy @ I

On reduéing ethylethanoate by lithium
aluminum hydride, the compound
() CHycH,

(ll) CH3CH2_OH

(i) CHzCooy

(iv) CHzCocH,
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(c) =Bt 47 PR @ Ramdr @R

R« |
Minamata disease was caused by
poisoning of which metal?

() Cd
(i) Pb
(iiij Cu
(iv) Hg

2. oo i epARA B 54
Answer the following questions :

(@) CRSA A CORF Mo DR K-Sy
TR SR $e fRéT e |

Show that half-life period of a radioactiye

element is independent of the amount
of the radioactive element.

(b) TH TS AT IR TS @B B ey |
Write a note on the use of hypo in
photography.

(c) ST AT o) o'

What is biochemical effect of arsenjco
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3. (a) 9%AT (b)3 T IR : I 7
Answer either (a) or (b) :
@ () R o wR IR AE P B
T2 A oy POArT iR e
E @A R Refy w1 2+3=5
memr , |
1o SEA 1 = 3996238 a.m.u.

A5 =1 =1-007825 a.m.u
G =2 = 1008665 a.m.u.

What do you mean by packing

fraction and. binding energy?

Calculate packing fraction and
~ binding energy of argon atom {{ Ar.

Given that

isotopic mass of argon

) =39:96238 a.m.u.
mass of proton =1-007825 a.m.u.
mass of neutron =1-008665 a.m.u.

® wefe R G owR WML 2

Describe one method of separation

of isotopes. ‘

Fefrms wa fRitgs e 275 et
R Ao fimon RS (@IS
IR coreTy, g <+ | 3
Discuss hoy nyclear stability ‘is
mﬂuenced by the relative number

of NeUtrons and protons in the
nucleus,

®) @
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(i) Y &R o (R e wo1) - 2x2=4
. Write short notes on (any two)
(1) e sreEeE
Nuclear fusion
(2) cowfEE Tt
- Radioactive tracer
(3) Tl comiire

Artificial radioactivity

4. (a) wre gl AP 2O GHIF 2T et

I G5 IRTW B (R e ) @ 2%4x2=5
Give one method of preparation and one
use of each of the following (any two) :
() =R R

Nessler’s reagent
(i) o0 M

" White lead

(i) ol e 2fyRe

Lithium aluminium hydride
(iv) ©'fam PG

Sodium cobaltinitrite

(b) oo T RRFCHRH oopf =1 (R e i) -

P7/287

1x2=2
Complete the following reactions
(any two) :

(i) Na28203 +H20 + Bl'2 E—
{il) NaBH4 +H2SO4 -_—

(@) FeSO,4 +KCN (excess) ——
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5. R @ R o Teg IR« 3x3=9

Answer any three questlons

(@) ﬁmmﬁﬁﬁﬁﬁWWl%W
'3 o[ Rafemn scamws =01 3

Mention about'the source of lead as
pollutant. Discuss the poisoning effect
of lead. "

(b)) BWrR R 22 @R IRe ARk IwE? 3

What is hemoglobin? How does it

transport oxygen?

(c) tefdw zlﬁsm @Eﬂiﬂm W W wnzarv«n
I . 3
Discuss the role of ca1c1um in blqlogmal
process.

(d =Re aﬁﬁm ©TS fem NGNS I TrEd
{0 1x3=3

Mention the function of the following
metals in biological system : .

) &=
Zinc
(i) '3
Cobalt
(@) 3 fRrew
Molybdenum .
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SECOND HALF
( Physical Chemistry ). |
(Marks: 32) | .
6. &% TeIH A Bhten : | 1x3=3

Select the correct answer :

(@) SE6F TR I CIRT BT A

The use of a catalyst helps in increasing
the o

() R RGER afScar
rate of forward reaction
(i) Ry RidrR aifecaa
rate of backward reaction
(ii)) TR OrF RANSTR et Rizrar sifdezar

rate of both forward and backward
reactions

(iv) RiFamrs “mde =eaifes sk

relative amount of products

(b)) As,S3I oon m AR T rows
wyol-RMAE St 7'

For As;83 colloid, the ion having highest
coagulating power is

() POz~ (i) SOz~
(iii) A13* (iv) Nat
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() = Toamm RR-RA2 o B 4w Reqe

JeFAE 2]
For one component system, at triple

point the number of degrees of freedom
is

@ o
@) 1
(i) 2
(iv) 3
UNIT—I |
7. R o @bt o ey R - 5

Answer any one question :

(@) Rt e f o oo ST RS A

P7/287

e 1 Ry o et 10 1+4=5
What is transport number? Describe
H;ttorf’s method for the determination

Ot transport number of silver ion.

Rive R 277 R R I FT
' L 1+1%=2%

\gh?tfi.s ‘equivalent conductance?
de AN why specific conductance
€Creases with dilution.
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(i) HCl, NaCl @I¥ CICH,COONa3 S5y
Yo WA RS T 426, 126
wI¥ 90 ohmlecmlgeq! T
VN R THY YOS TURS
sfRRafRer fefa w1 . 2%,

. The equivalent conductance at
infinite dilution of HCl, NaCl and
CICH2COONa are 426 126 and

90 ohm lecm™!geq” respectwely
Find the equivalent conductance of
chloroacetic acid at infinite dilution.

UNIT—II

8. A @ i o T FRA : 3x2=6
Answer any two questions :

(@) FEEET ofPeaR ITYT IR T &1 pH
@ frfy FRI IR, T T 3

Describe how the pH of a solution can
be determined by using a qumhydrone
electrode.

(b) wﬁmm@wﬁmﬁwsmw: 3

Calculate the e.m.f. of the cell of the
following :

2+ ‘
Zn |Zn**(0-001 M)| |Ag* 0-1 M)|Ag
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- Tran e
E;.g/Ag* =0-80VWE;n/Zné+ =-0-76V
- Given '
E pp =0-80V and Eg ;. ==0-76V
@ oo fl @RS SR @1 RN

1x3=3
Write the cell reactions of the following
cells : . :
() Fely|Fe?* (ag)| [Cu®* (ag) |Culd
() A9 A3 )| [Ag" (@) | AR
(i) Zn(|Zn2* (@q)| |Cu?* (aq) |Culd

UNIT—III
9. R T Gl e Taw IR : 2x2=4

. Answer any two questions :

(@) SRCTT ST SRR &S AL o |
Distinguish between absorption and

adsorption.

(b) TR WF I SEOA I QA2
TrizaeriR o o
What  are homogeneous and
heterogeneous catalysis? Give
examples,
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(c) SRR o FIF Qe ? @Fefns SfReme
AT AR o1 |

What is adsorption isotherm? Write -
down the Freundlich adsorption
isotherm equation.

UNIT—IV

10. (a) W37 (b) T Teq IR 4
Answer either (a) or (b) :

(@) mmﬁmww ot o o
R A I/ 1+3=4
State phase rule. Draw and discuss the
phase diagram of sulphur.

(b) () == fa REFAFE ARY A o
R, o 2
. Write the number of phases
and components of the following
reactions :

(1) Ny(g)+O02[) =2NOG)
: (2) CaCOj3(s) = CaOfs) +CO,(g)
(i) R R R7 TR e o 2
What is triple point? Write its
significance.
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UNIT—V
11. R Il ot R Te3 R - 215x2=5
Answer any two questions :
(@) RRRRR AF T3 o= REF Aww Bl |
Define cataphoresis and electroosmosis.

(b) TRIGA SIF TEFEAT F oG “NLIPIR e |

Write the differences between lyophobic
and lyophilic colloids.

(¢ CrpiRE IF QA2 9B SHRITIE [
111 '
What is peptization? Explain with one
example. .

UNIT—VI
12. (a) CTRG-REE @00 Booiw w41 | -3
Derive Lambert-Beer law.
| %1 / Or
FLACHH AF FOF T3 ATS AT 74T |

Distinguish between fluorescence and
phosphorescence.

(b) 8000 A weesitri-RFR ¥°87 QBR & st
Al 2

Calculate the energy of a photon
corresponding to the wavelength 8000 A.

* %k
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